
Installation:

 
* P

R
O

FA
C

TO
R

 S
.A

. reserve the right to change the specification in m
aterials or designs of its products w

ithout prior notice *Zona Industrial de Campo, Rua Nova da Costa 55-71, 4440-049 Valongo, PORTUGAL, Telf.: +351 224 119 160, info@profactor.ptMOOSE is a brand or PROFACTOR S.A.

WBDLP12V

PROUDLY DEVELOPED AND
MANUFACTURED IN PORTUGAL

Dimensions in mm [in]

Type
Installation
Tilt
Structure
Finishing
Hardware
Dimensions

Weight

Swivel bracket for DLP12
Vertical
Adjustable from 0° to 50°, 4 steps of 12.5°
Steel, 5mm
Black power coating, other colors upon request
M10 knobs supplied in the package
385x450mm
15.16x17.72in
3.5Kg
7.72lb

M5x50 screw to be
removed to install
the Bracket

50° 25°

M10 hole to tight
the M10 knob

Technical specifications:

To install the Bracket to the speaker p

   1. Prepare the bracket and the two M10 knobs supplied in the 
package.

   2. On the speaker, remove the 2 (two) M5x50 screws loacted on 
the right top corner of each handle

   3. Place the bracket over the speaker and align the M10 threaded 
of the handles with the M10 center holes of the bracket

  4. Using the M10 knobs supplied, screw the knobs to the side 
handles. Do not tight it firmly yet.

   5. Tilt the bracket till you get the desired angle, from 0° to 50° 
divided in 4 steps of 12.5°.

   6. Once the angle is set, use the M5x50 screws removed from the 
handles to firmly tight the bracket to the speaker.

   7. Adjust the grip of the M10 knobs till it’s firmly tightened.

   The Bracket is now installed.

lease follow the instructions 
below:


	Page 1

